

$$\mathfrak{G} |_{\epsilon}^{\mathbb{C}\mathbb{I}} = \mathfrak{G}_{\pm}^0 |_{\epsilon}^{\mathbb{C}\mathbb{I}} \times \mathfrak{G}^{2*} |_{\epsilon}^{\mathbb{C}\mathbb{I}}$$

$$\mathfrak{G}_1^0 |_{\epsilon}^{\mathbb{C}\mathbb{I}} = \mathbb{C}_1 |_{\mathbb{C}\mathbb{I}} = \mathbb{C} |_{\mathbb{I}}$$

$$\mathfrak{G}_-^0 |_{\epsilon}^{\mathbb{C}\mathbb{I}} = \frac{M_a = z\check{e}a\partial_z}{a = \check{a} \in \mathbb{I}}$$

$$\mathfrak{G}^1 |_{\epsilon}^{\mathbb{C}\mathbb{I}} = \frac{a\partial_z}{a = -\check{a} \in {}^{\mathbb{C}}\mathbb{I}}$$

$$\mathfrak{G}^{-2} |_{\epsilon}^{\mathbb{C}\mathbb{I}} = \frac{z\check{a}z\partial_z}{a = -\check{a} \in {}^{\mathbb{C}}\mathbb{I}}$$

$$2z\check{e}e\partial_z = 2z\partial_z \in \mathfrak{G}_- |_{\epsilon}^{\mathbb{C}\mathbb{I}}$$

$$\mathfrak{G}^{\lambda} |_{\epsilon}^{\mathbb{C}\mathbb{I}} = \frac{\mathfrak{b} \in \mathfrak{G} |_{\epsilon}^{\mathbb{C}\mathbb{I}}}{2\mathfrak{b} * \underline{z\check{e}e} = \lambda\mathfrak{b}}$$

$$a * \underline{z\check{e}e} = a\check{e}e = a$$

$$\underline{z\check{e}e} * \underline{z\check{a}z} = 2\underline{z\check{e}e}\check{a}z - \underline{z\check{a}z}\check{e}e = z\underline{e\check{e}a}z = z\check{a}z$$

$$\underline{\mathfrak{b}_{-2} + \mathfrak{b}_0 + \mathfrak{b}_2} * = -\mathfrak{b}_{-2} + \mathfrak{b}_0 - \mathfrak{b}_2 \text{ refl}$$